Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

WELL HISTORY - DESCRIP	ORIGINAL
Operator: License # 4967	API No. 15 - 185-23192-00-00
Name: Berenergy Corporation	County: Stafford
Address: 3333 S. Wadsworth Blvd., #D218	SE_SW_NW_Sec. 29 Twp. 21 S. R. 12 East West
City/State/Zip: Lakewood, CO 80227	feet from S N (circle one) Line of Section
Purchaser: TEPPCO Crude Oil, LLC	feet from E W (circle one) Line of Section
Operator Contact Person: David Braden	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>303</u>) <u>969-9610</u>	(circle one) NE SE WW SW
Contractor: Name: Duke Drilling Co.	Lease Name: Fisher 'A' Well #: 7
License: 5929	Field Name: Mueller
Wellsite Geologist: Tim Lauer	Producing Formation: LKC, Toronto
Designate Type of Completion:	Elevation: Ground: 1863' Kelly Bushing: 1871'
New Well Re-Entry Workover	Total Depth: 3660' Plug Back Total Depth: 3526'
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows: RECEIVED	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan All UN 12.1.03
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit)
CONSERVATION DIVISION Convergence Re-perf. Convergence Results	Chloride content N/A ppm Fluid volume 680 bbls
Plug BackPlug Back Total Depth	Dewatering method used hauled to SWD *
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	'
Other (SWD or Enhr.?) Docket No	Operator Name: Paul's Oilfield Service, Inc.
7/22/23 7/27/03 . 8/11/03	Lease Name: Stargel License No.: 31085
Spud Date or Date Reached TD Completion Date or	Quarter Sec. 4 Twp. 22 S. R. 12 East West
Recompletion Date Recompletion Date	County: Stafford Docket No.: 21,908
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3-nd geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: D	KCC Office Use ONLY
Title: Agent Date: November 15, 2003	Letter of Confidentiality Attached
Subscribed and sworn to before me this 1944 day of November 1944	If Denied, Yes Date:
20 03. Notary Public: Sound A Noll	Wireline Log Received
Notary Public: Your A Holl	Geologist Report Received UIC Distribution
Date Commission Expires: May 22, 2007	Geologist Report Received UIC Distribution
	DL1708

Operator Name:	Berenergy Corpor	ation		Lease I	Name:	Fisher 'A'		Well #:	7	
Sec. 29 Twp. 2	1 S. R. 12	East	✓ West	County:		Stafford	,			\.
INSTRUCTIONS: Si tested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rates	and shut-ir if gas to su	n pressures, v urface test, al	vhether shi ong with fir	ut-in pre	ssure reached s	tatic level, hydros	static pressur	es, bottor	n hole
Drill Stem Tests Take		✓ Yes	∏No		VL	og Formatio	n (Top), Depth ar	nd Datum		Sample
Samples Sent to Ge	ological Survey	✓ Yes	□No		Name Anhy		5 m2 MC (3 - 3 1 - 2	Тор 670'		Datum -1201
Cores Taken		Yes	J		Tope		2835'		-964'	
Electric Log Run (Submit Copy)			Heebner			3123' -1252				
.ist All E. Logs Run:			LKC		3262' -1391'					
Dual Industion	Dual Induction log, Dual Compensated Porosity log,			V log	BKC Viola					
	ilog, Duai Com / log, Gamma F		-	_	Simp				-1629 -1677'	
Bond log		,	cation comont		Arbu	•		3602'		
CASING RECORD Report all strings set-conductor, su				✓ New Used						
Purpose of String	Size Hole	Size	Casing	Weig	ht	Setting	Type of	# Sacks		and Percent
surface	Drilled 12-1/4"		Set (In O.D.) Lbs 8-5/8" 2		rt.	Depth - 685'	70/30 Pozmix	390		dditives I, 3% CaCl2
production	7-7/8"	5-1/	/2"	15.5		3659'	ASC	175	5 pps Kol-seal, 0.2 pps FL-160	
			3							
L			ADDITIONAL	CEMENTIN		JEEZE RECORD		1	1	
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре о	f Cement	#Sacks	Used		Type and Pe	ercent Additives	3	
Shots Per Foot	0		- Bridge Plug ich Interval Peri				ture, Shot, Cement	5	rd	Depth
2					Acidized w/ 250 gal. 28% HCl + 500 gal. 15% HCl 3603-1					
	CIBP									3526'
2 3285-86', 3302-04', 3306-08', 3326-28', 3338-4				43',	Acidized w/ 1500 gal. 15% HCl,				3148-3477	
3352-55', 3388-96', 3410-13', 3430-36', 3454-56'					56',	re-treated w/ 6000 gal. HCl				
	3473-77' (LKC),	3148-50'	(Toronto)							
TUBING RECORD Size Set At Packer At 2-3/8" 3512'				t	Liner Run Yes V No					
Date of First, Resume	rd Production, SWD or E		Producing Meth	nod	Flowing		Philips	Oth	ıer <i>(Explain</i>	,
Estimated Production Per 24 Hours		Bbls.		Mcf	Wate	er Bl		as-Oil Ratio	- \	Gravity
Disposition of Gas	METHOD OF C	OMPLETION	1			.Production Interval				
Vented Sold	✓ Used on Lease ubmit ACO-18.)		Open Hole Other (Speci	Perf.		Dually Comp.	Commingled	Walkering and an arrange and an arrange and arrange arrange and arrange and arrange ar		

ALLIED CEMENTING CO., INC 15907 Federal Tax I.D.#19 ÉMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 Great Bend 15-185-23192-00-00 ON LOCATION JOB START JOB FINISH 29 //CL/COAM COUNTY DATE 7-28-03 12 6100 AM LOCATION K-19 4 Hudson Blk top-LEASE Fisher WELL # A-7 OLD OR NEW (Circle one) 3 norty- East into OWNER BERENERGY CORP. CONTRACTOR DUKE # 8 TYPE OF JOB Lungstring HOLE SIZE 7º/8 T.D. **CEMENT** 3660 AMOUNT ORDERED 1755x A.S.C. - 516 Kol-**CASING SIZE DEPTH** JEA + 002 - FL 160 +500 9A **TUBING SIZE DEPTH** of flush DRILL PIPE **DEPTH** TOOL COMMON ASC 17544@ 900 MINIMUM 500 PRES. MAX 1600 POZMIX MEAS. LINE GEL CEMENT LEFT IN CSG CHLORIDE PERFS. 88 BBIS KOL-SEAL DISPLACEMENT FL-160 @ 80 264,00 **EQUIPMENT** MUD FLUSH 1.00 PUMP TRUCK CEMENTER_ # 120 BULK TRUCK # 34(HELPER @ 1.1S 233.7S HANDLING _ 285140s 16 180,00 MILEAGE_ DRIVER RECEIVED **BULK TRUCK** KANSAS CORPORATION COMMISSION TOTAL 2191 DRIVER 3215.25 NOV 2 0 2003 CONSERVATION DIVISION SERVICE **REMARKS:** Run 85 its of 5½ csq-coment circ 15 min-Rie mud pump-Mlx flush-cement Bathole + Mouse Mole - Cement csq- Risplace plag with 88 B13 Is fresh water-insent hotel-WICHITA, KS 3600' DEPTH OF JOB PUMP TRUCK CHARGE 113000 EXTRA FOOTAGE MILEAGE @ 3.5D @ 10.00 PLUG 1-53 Trubber TOTAL 1846,00 CHARGE TO: Berenergy Corp. STREET 3333 S. Was worth Blud. 40018 FLOAT EQUIPMENT CITY LAKE WOOD STATE Colo. ZIP 80227 1.5 à quide shoe @ 15000 @ <u>235.00</u> _ @ 50, EA To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment TOTAL __185.ad and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TAX_ contractor. I have read & understand the "TERMS AND TOTAL CHARGE -CONDITIONS" listed on the reverse side.

DISCOUNT -

Tich WheeleR

PRINTED NAME

SIGNATURE Rich Wheele

— IF PAID IN 30 DAYS:

ALLIED CEMEN	
Federal Tax I.I	ORIGINAL OF THE PROPERTY OF TH
nf. P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
API#15.185.	23192-80-00 Hreat Band
SEC. TWP. RANGE	ALLED OUT ON LOCATION JOB START JOB FINISH
	9:35 PM 10:25PM 12:00 AM 1:15 AM
LEASE Trisher A WELL # 7 LOCATION K-194	Dartmouth of Stafford Ks
OLD OR (NEW) (Circle one) 3 month ea	stoide
CONTRACTOR Duke Pailling	OWNER Bereneneray Corp.
TYPE OF JOB Surface	OWNER I SCIENCINETAL COLD.
HOLE SIZE 1214, T.D. 685'	CEMENT
CASING SIZE 8% DEPTH685'	AMOUNT ORDERED 390 W 70/30 3% CC
TUBING SIZE DEPTH DRILL PIPE DEPTH	2% Gel
DRILL PIPE DEPTH TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 273 @ 7.15 1951.95
MEAS. LINE SHOE JOINT	COMMON 273 @ 7.15 1951.95 POZMIX 117 @ 3.80 444.61
CEMENT LEFT IN CSG. 40'	GEL 7 @ 10.00 70.00
PERFS.	CHLORIDE 12 @ 30.00 360.0
DISPLACEMENT 41/48613	@
EQUIPMENT	@
L.B.	
PUMPTRUCK CEMENTER Defing # 181 HELPER Bushesses	
#18/ HELPER Burhens	HANDLING 409 @ 1.15 470.3
#344 DRIVER Tim Dickson	MILEAGE 16 x 05 x 409 327,2
BULK TRUCK	
# DRIVER	RECEIVED TOTAL 3624. KANSAS CORPORATION COMMISSION
REMARKS:	NOV 2 0 2003 SERVICE
Ran 8 % casing to bottom	
	DEPTH OF JOB AXS
Circulate w/rig mud	DEPTH OF 10B 685' PUMP TRUCK CHARGE 0-300' 520.00
Cement with 390 px 10/30 370CC	PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.51
Cement with 390 px 70/30 370CC 270 gel. Shut down release 85/8	PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00
Lement with 390 px 70/30 370CC 270 gel. Shut down release 8 3/8 rubber plug. Change values over,	PUMP TRUCK CHARGE ()-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubber @ 100.00 100.00
Cement with 390 px 70/30 370CC 270 gel. Shut down release 85/8	PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00
Lement with 390 px 70/30 370CC 270 gel. Shut down release 8 3/8 rubber plug. Change values over,	PUMP TRUCK CHARGE ()-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubber @ 100.00 100.00
Cement with 390 px 10/20 370CC 270 gel. Shut down release 85/8 subber plug. Change valves over, displace down 878 casing with 41/4 BBLS fresh h20. Cement did circulate	PUMP TRUCK CHARGE ()-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubber @ 100.00 100.00
Lement with 390 px 70/30 370CC 270 gel. Shut down release 8 3/8 rubber plug. Change values over,	PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubben @ 100.00 100.00 TOTAL 868.50
Cement with 390 px 70/20 370CC 270 gel. Shut down release 85/8 subber plug. Change values over, displace down 878 casing with 41/4 BPLS fresh h20. Cement did circulate CHARGE TO: Berenergy Corporation STREET 3333 couth Undsworth Blad.	PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 385' @ 50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubber @ 100.00 100.00
Cement with 390 px 10/20 370CC 270 gel. Shut down release 85/8 rubber plug. Change values over, displace down 85/8 casing with 41/4 BPLS fresh h20. Cement did circulate CHARGE TO: Berenergy Corporation	PUMP TRUCK CHARGE O-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 858 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT
Cement with 390 px 70/20 370CC 270 gel. Shut down release 85/8 subber plug. Change values over, displace down 878 casing with 41/4 BPLS fresh h20. Cement did circulate CHARGE TO: Berenergy Corporation STREET 3333 couth Undsworth Blad.	PUMP TRUCK CHARGE 0-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubben @ 100.00 100.00 TOTAL 868.50
Cement with 390 px 70/20 370CC 270 gel. Shut down release 85/8 subber plug. Change values over, displace down 878 casing with 41/4 BPLS fresh h20. Cement did circulate CHARGE TO: Berenergy Corporation STREET 3333 couth Undsworth Blad.	PUMP TRUCK CHARGE ()-300' 520.00 EXTRA FOOTAGE 385' @ .50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 85/8 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @
Cement with 390 px 70/20 370CC 270 gel. Shut down release 85/8 subber plug. Change values over, displace down 878 casing with 41/4 BPLS fresh h20. Cement did circulate CHARGE TO: Berenergy Corporation STREET 3333 couth Undsworth Blad.	PUMP TRUCK CHARGE ()-300' 520.00 EXTRA FOOTAGE .385' @ .50 192.50 MILEAGE /6 @ 3.50 56.00 PLUG / 85/8 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @
Cement with 390 sx 70/30 370CC 270 gel. Shut down release 85% rubber plug. Change values over, displace down 878 casing with 411/4 BPLS fresh h20. Cement did circulate CHARGE TO. Berenergy Corporation STREET 3333 couth Turdownth Blud. CITY Lakeusand STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc.	PUMP TRUCK CHARGE ()-300' 520.00 EXTRA FOOTAGE .385' @ .50 192.50 MILEAGE /6 @ 3.50 56.00 PLUG / 85/8 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @ @
Cement with 390 st 70/30 37occ 27o gel. Shut down release 85% rubber plug. Change values over displace down 85% casing with 411/4 BBLS fresh h20. Cement did circulate CHARGE TO: Berenergy Corporation STREET 3333 coult Undownth Blad. CITY Lokeusand STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment	PUMP TRUCK CHARGE ()-300 520.00 EXTRA FOOTAGE 385 @ .50 192.50 MILEAGE 6 @ 3.50 56.00 PLUG 858 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @ @ @ @ @ @ @ @ @ @
Cement with 390 sx 70/30 370cc 270 gel. Shut down release 858 nubber plug. Change values over. displace down 858 casing with 411/4 BPLS fresh h20. Cement did circulate CHARGE TO: Besenergy Corporation STREET 3333 court Tundsworth Blrd. CITY Lakeuraad STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	PUMP TRUCK CHARGE ()-300 520.00 EXTRA FOOTAGE 385 @ .50 192.50 MILEAGE 6 @ 3.50 56.00 PLUG 858 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @ @ @ @ @ @ @ @ @ @
CHARGE TO Besenergy Corporation STREET 3333 south Undownth Black CITY Lakeussed STATE Colorado, ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	PUMP TRUCK CHARGE ()-300 520.00 EXTRA FOOTAGE 385 @ .50 192.50 MILEAGE 6 @ 3.50 56.00 PLUG 858 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @
CHARGE TO: Besenergy Corporation STREET 3333 south Undernth Blad CITY Lakeussel STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE ()-300 520.00 EXTRA FOOTAGE 385 @ .50 192.50 MILEAGE 6 @ 3.50 56.00 PLUG 858 nubben @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @
CHARGE TO Benevery Corporation STREET 3333 south Undsumth Blad. CITY Takeusad STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE Q-300
CHARGE TO: Besenergy Corporation STREET 3333 south Undernth Blad CITY Lakeussel STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE 0-300
CHARGE TO Benevery Corporation STREET 3333 south Undsumth Blad. CITY Takeusad STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE Q-300
CHARGE TO Besen engy Corporation STREET 3333 south Undawnth Bluel CITY Takeward STATE Colorado. ZIP 80227 To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE 0-300
CHARGE TO: Besenergy Corporation STREET 3333 south Todownth Bluel CITY To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. SIGNATURE The Above Work was also and the "TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE 0-300
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. SIGNATURE ANY APPLICABLE TAX	PUMP TRUCK CHARGE 0-300 520.00 EXTRA FOOTAGE 385 @ 50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 858 AUBBON @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @ @ @ @ @ @ @ # # # # # # # # # # # #
CHARGE TO: Besenergy Corporation STREET 3333 south Todownth Bluel CITY To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side. SIGNATURE The Above Work was also and the "TERMS AND CONDITIONS" listed on the reverse side.	PUMP TRUCK CHARGE 0-300 520.00 EXTRA FOOTAGE 385 @ 50 192.50 MILEAGE 16 @ 3.50 56.00 PLUG 1. 858 AUBBON @ 100.00 100.00 TOTAL 868.50 FLOAT EQUIPMENT @ @ @ @ @ @ @ # # # # # # # # # # # #